

Fwd: Final Grade Declared

NAAC Admin VESIT <naacadmin.vesit@ves.ac.in>
To: M Vijayalakshmi <m.vijayalakshmi@ves.ac.in>, vesit@ves.ac.in

Tue, Dec 13, 2022 at 5:40 PM

----- Forwarded message ------

From: Admin-Naac <noreply.onlineassessment@gmail.com>

Date: Tue, Dec 13, 2022, 16:19 Subject: Final Grade Declared

To: VIVEKANAND EDUCATION SOCIETY'S INSTITUTE OF TECHNOLOGY <naacadmin.vesit@ves.ac.in>

NATIONAL ASSESSMENT AND ACCREDITATION COUNCIL

F.19.26/EC(SC-104)/DO

13th December 2022

The Principal VIVEKANAND EDUCATION SOCIETY'S INSTITUTE OF TECHNOLOGY Mumbai - 400074 Maharashtra

Dear Principal,

Greetings from NAAC!

I am glad to inform you that the outcome of the Assessment and Accreditation (A&A) exercise of your institution has been processed and approved by the Standing Committee constituted by the Executive Committee to examine the peer team reports and declare the accreditation results. Your institution has been **Accredited** with a **CGPA** of **3.17** on a seven point scale at **A Grade** valid for a period of **5 years** from

13 - 12 - 2022. The original certificate of accreditation will be dispatched to the institution in due course. The Assessment Outcome Document (AOD) of your institution is available on the portal and the same may be downloaded and displayed on your institutional website. I am sure that the detailed peer team report handed over to you during the exit meeting along with the AOD will enable the institution to initiate further quality enhancement measures.

As per the guidelines of NAAC, it is mandatory for accredited institutions to retain the Self-Study Report (SSR) uploaded on the institutional website for A&A by NAAC until the completion of validity period of A&A. The SSR along with data templates should not be password protected and accessible to all the stakeholders. Institutions are also requested to take note of the mandatory requirement of submitting Annual Quality Assurance Report (AQAR) and uploading them on the institutional website on regular basis. Failing to submit the AQARs annually, institutions will not be eligible for the next cycle of accreditation. For details on the revised guidelines, please visit our website: www.naac.gov.in from time to time.

With best wishes, Yours sincerely, (Dr.S.C.Sharma)

THIS IS AN AUTO GENERATED MAIL, PLEASE DO NOT REPLY TO THIS MAIL.

NAAC

Institutional Assessment and Accreditation

(Effective from July 2017)
Accreditation - (Cycle: 1)

VIVEKANAND EDUCATION SOCIETY'S INSTITUTE OF TECHNOLOGY, Mumbai, Maharashtra, 400074

Track ID: MHCOGN111084 AISHE-ID: C-33895

Visit dates: 28 - 04 - 2022 to 29 - 04 - 2022

Grade Sheet



NATIONAL ASSESSMENT AND ACCREDITATION COUNCIL

An Autonomous Institution of the University Grants Commission
P.O. Box No. 1075, Nagarbhavi, Bengaluru - 560 072, INDIA

Name of the Institution: VIVEKANAND EDUCATION SOCIETY'S INSTITUTE OF

TECHNOLOGY

Type of the Institution: Affiliated college Dates of Visit: 28 - 04 - 2022 to 29 - 04 - 2022

No	Criteria	Weightage (W _i)	Criterion-wise weighted Grade Point (CrWGP _i)	Criterion- wise Grade Point Averages (CrWGP _i
1	Curricular Aspects	100	355	3.55
2	Teaching-learning and Evaluation	350	1091	3.12
3	Research, Innovations and Extension	110	320	2.91
4	Infrastructure and Learning Resources	100	351	3.51
5	Student Support and Progression	120	455	3.79
6	Governance, Leadership and Management	92	252	2.74
7	Institutional Values and Best Practices	100	256	2.56
Total		$\sum_{i=1}^{7} (W_i) = 972$	$\sum_{i=1}^{7} (CrWGP_i) = 3080$	3.17

Institutional CGPA =
$$\sum_{i=1}^{7} (CrWGP_i) / \sum_{i=1}^{7} (W_i) = 3080/972 = 3.17$$

Grade: A

Name of the Institution: VIVEKANAND EDUCATION SOCIETY'S INSTITUTE OF

TECHNOLOGY

Type of the Institution: Affiliated college Dates of Visit: 28 - 04 - 2022 to 29 - 04 - 2022

	Criteria and Key Indicators	Key Indicator Weightage (W _i)	Key Indicator Wise Weighted Grade Points (KIWGP) _i						
Criterion 1: Curricular Aspects									
1.1	Curricular Planning and Implementation	20	65						
1.2	Academic Flexibility	30	120						
1.3	Curriculum Enrichment	30	100						
1.4	Feedback System	20	70						
	Total	\sum W ₁ =100	Σ (KIWGP) ₁ =355						
Calculated CrGPA ₁ = Σ (KIWGP) ₁ / Σ W ₁ = 355 /100 = 3.55									
Criterion 2: Teaching-learning and Evaluation									
2.1	Student Enrollment and Profile	40	120						
2.2	Catering to Student Diversity	50	140						
2.3	Teaching- Learning Process	50	180						
2.4	Teacher Profile and Quality	60	180						
2.5	Evaluation Process and Reforms	30	75						
2.6	Student Performance and Learning Outcomes	60	195						
2.7	Student Satisfaction Survey	60	201						
	Total	\sum W ₂ =350	\sum (KIWGP) ₂ =109						
			Calculated CrGPA ₂ = Σ (KIWGP) ₂ / Σ W ₂ = 1091 /350 = 3.12						
	Calculated CrGPA ₂ = Σ (KIV	$V(GP)_2 / \sum W_2 =$	1091 /350 = 3.12						
	Calculated $CrGPA_2 = \sum$ (KIV) Criterion 3: Research, In								
3.1									
3.1	Criterion 3: Research, In	novations and Ext	ension						
	Criterion 3: Research, In Resource Mobilization for Research	novations and Ext	ension 40						
3.2	Criterion 3: Research, In Resource Mobilization for Research Innovation Ecosystem	novations and Ext	ension 40 35						
3.2	Criterion 3: Research, In Resource Mobilization for Research Innovation Ecosystem Research Publications and Awards	10 10 20 50 20	ension 40 35 10 155 80						
3.2 3.3 3.4	Criterion 3: Research, In Resource Mobilization for Research Innovation Ecosystem Research Publications and Awards Extension Activities	10 10 20 50	ension 40 35 10 155						
3.2 3.3 3.4	Criterion 3: Research, In Resource Mobilization for Research Innovation Ecosystem Research Publications and Awards Extension Activities Collaboration Total	10 10 20 50 20	ension 40 35 10 155 80						
3.2 3.3 3.4	Criterion 3: Research, In Resource Mobilization for Research Innovation Ecosystem Research Publications and Awards Extension Activities Collaboration Total	novations and Ext 10 10 20 50 20 Σ W ₃ =110 VGP) ₃ / Σ W ₃ =	ension 40 35 10 155 80 ∑ (KIWGP) ₃ =320 320 /110 = 2.91						
3.2 3.3 3.4	Criterion 3: Research, In Resource Mobilization for Research Innovation Ecosystem Research Publications and Awards Extension Activities Collaboration Total Calculated CrGPA ₃ = \(\Sigma\) (KIV	novations and Ext 10 10 20 50 20 Σ W ₃ =110 VGP) ₃ / Σ W ₃ =	ension 40 35 10 155 80 ∑ (KIWGP) ₃ =320 320 /110 = 2.91						
3.2 3.3 3.4 3.5	Criterion 3: Research, In Resource Mobilization for Research Innovation Ecosystem Research Publications and Awards Extension Activities Collaboration Total Calculated CrGPA ₃ = \(\Sigma\) (KIV)	novations and Ext 10 10 20 50 20 Σ W ₃ =110 VGP) ₃ / Σ W ₃ =	ension 40 35 10 155 80 ∑ (KIWGP) ₃ =320 320 /110 = 2.91						
3.2 3.3 3.4 3.5	Criterion 3: Research, In Resource Mobilization for Research Innovation Ecosystem Research Publications and Awards Extension Activities Collaboration Total Calculated CrGPA ₃ = \(\Sigma\) (KIW Criterion 4: Infrastructure Physical Facilities	novations and Ext 10 10 20 50 20 Σ W ₃ =110 VGP) ₃ / Σ W ₃ =	ension 40 35 10 155 80 ∑ (KIWGP) ₃ =320 320 /110 = 2.91 sources 110						

No	Criteria and Key Indicators	Key Indicator Weightage (W _i)	Key Indicator Wise Weighted Grade Points (KIWGP) _i				
	Infrastructure		, ,,				
	Total	\sum W ₄ =100	Σ (KIWGP) ₄ =351				
Calculated CrGPA ₄ = Σ (KIWGP) ₄ / Σ W ₄ = 351 /100 = 3.51							
Criterion 5: Student Support and Progression							
5.1	Student Support	45	170				
5.2	Student Progression	25	100				
5.3	Student Participation and Activities	45	175				
5.4	Alumni Engagement	5	10				
	Total	\sum W ₅ =120	Σ (KIWGP) ₅ =455				
Calculated CrGPA ₅ = Σ (KIWGP) ₅ / Σ W ₅ = 455 /120 = 3.79							
Criterion 6: Governance, Leadership and Management							
6.1	Institutional Vision and Leadership	10	25				
6.2	Strategy Development and Deployment	10	32				
6.3	Faculty Empowerment Strategies	30	85				
6.4	Financial Management and Resource Mobilization	12	30				
6.5	Internal Quality Assurance System	30	80				
	Total	Σ W ₆ =92	Σ (KIWGP) $_{6}$ =252				
Calculated CrGPA ₆ = Σ (KIWGP) ₆ / Σ W ₆ = 252 /92 = 2.74							
	Criterion 7: Institutional Values and Best Practices						
7.1	Institutional Values and Social Responsibilities	50	156				
7.2	Best Practices	30	60				
7.3	Institutional Distinctiveness	20	40				
Total Σ W ₇ =100 Σ (KIWGP) ₇ =256							
Calculated CrGPA ₇ = Σ (KIWGP) ₇ / Σ W ₇ = 256 /100 = 2.56							
Grand Total		972	3080				

Institutional CGPA =
$$\sum_{i=1}^{7} (CrWGP_i) / \sum_{i=1}^{7} (W_i) = 3080/972 = 3.17$$